106 44 /% B 2 AP T3 B B0 & 4 7 4 (GEE AR

#EkeR, x(x—20)2x—k) <0F 9 EEEHAE 2°(x —20)*(3z — k) <0 A 7T AEHEK
fig, Bk ey S B BT ?

2 2
2. T ”jT . % — 1 AELRBYNE [ AL, 8 F,—A%R T #8EL3A P Q W, B

ZFVPQ = 90°, B AFyPQ & R4y B F48 BAT?
3. L <a, > a =1,3a,41 = 2a, +2-3", &K a, 9—H#&E

4. 41BN, 6 IBIR, 6 & FPR—7F|, ERAFFHAE AL, FEHR I, BURAF T AR e PE 7] &
BAT? (AR, FEAAMR)

5. %EHFM ABCD %%k %A 1, E. F 93 % AB 2 AD +Z—% B NAEF Ak % 2, 8

LECFEF?
1010000
B L A <= ’éT k)— .

7.3 ABnxniER EBENXNER BI&F AB=BA=1,, B4 A B4

(a) &4 A BnxnTi#sER B AB=CA=1, FA B=C

(b) &4 A B 3 x 34EM, H det(A) £ 0,59 A BT 40
8. B X n®rd+nr—1=0,EFneN

(a) Vn € N, &9 kit 52 K ibA — % $

(b) ZwEHMEE ,, K hm x, ZAE
9. VneN, ZERAFREN 22+ =" 2V A —E¥HM, ¥ 2,y,2 €N
10. ¥ o@maegxigky» A a,b,1,1,1,1, £F a,b ZEE4G#% K, KK

(a) tuod R BEAR 69 K AL B FT?

(b) BB AMLE AN, #H (a,b) BT

11. Z3ERE, T 2l694GH 5 E AR E I, $43RF R R,

RARBRZ AR &, B g(x) = [ f(0)dt ZTHREK



